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Match-up:   ( 1 point each )
For each numbered term, enter the letter corresponding to the definition that best matches the term.

____ 1- meandering stream

A- A crescent-shaped body of water left over from an abandoned meander.
____ 2- meander bend


B- A body of porous rock or sediment that is sufficiently permeable to 






conduct groundwater.
____ 3- meander scars

C- Low ridges of sediment deposits on a floodplain left by meanders. 
____ 4- oxbow lake


D- A stream with a channel that curves back and forth on a floodplain.
____ 5- aquifer


E- One of a series of curves or loops in the course of a mature river.
Short Answer:   ( 5 points each )
6) What is the process that causes a meandering stream to meander ? 


_____________________________________________________________________________________

7) Why do low-gradient streams have a broad floodplain ?


_____________________________________________________________________________________

8) What types of sediments are carried and deposited by a low-gradient stream ? 
_____________________________________________________________________________________

9) What causes low-gradient streams to flood ? 
_____________________________________________________________________________________

True or False:   ( 1 point each )
10) T  /  F  --  Low-gradient rivers erode the land side-ways as well as downward.
11) T  /  F  --  Meandering rivers cause valleys to get narrower and narrower over time.
12) T  /  F  --  Typically, rivers in the lower areas of a river system have lower gradients.
13) T  /  F  --  Typically, rivers in the lower areas of a river system have wider chanels.
14) T  /  F  --  Typically, rivers in the lower areas of a river system flow over broad floodplains.
15) T  /  F  --  Low-gradient rivers cut wide valleys because their channels tend to shift sideways.

16) T  /  F  --  A typical meandering river will cut sediments from its inside bend and deposit sediments on its 


outside bend..

17) T  /  F  --  As a meander bend grows wider, its neck also grows wider.
18) T  /  F  --   Floods happen when a rivers discharge exceeds its channel capacity.
Diagram:   Refer to the diagrams below for the following questions.   
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19) In the previous diagrams, which site represents the high-gradient section of the river illustrated ?

Circle one:

Site 1

Site 2

Site 3

20) In the previous diagrams, which site represents the mid-gradient section of the river illustrated ?

Circle one:

Site 1

Site 2

Site 3

21) In the previous diagrams, which site represents the low-gradient section of the river illustrated ?

Circle one:

Site 1

Site 2

Site 3

22) In the previous diagrams, which site represents the floodplain section of the river illustrated ?

Circle one:

Site 1

Site 2

Site 3

23) In the previous diagrams, which site represents where meandering rivers will form ?

Circle one:

Site 1

Site 2

Site 3

24) In the previous diagrams, which site represents where boulders and rocks would be deposited ?

Circle one:

Site 1

Site 2

Site 3

25) In the previous diagrams, which site represents where gravel and pebbles would be deposited ?

Circle one:
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Site 2

Site 3

26) In the previous diagrams, which site represents where sand, silt, and clay particles would be deposited ?

Circle one:
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Site 2
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